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QUESTION 1

Which two business indicators should be created to support a chart titled "Sales Total by Region"?
A. Measure

B. Counter

C. Counter mark

D. Dimension

Correct Answer: AD

QUESTION 2

Which three design considerations apply to an if-then rule?

A. A rule function can be called.

B. Aggregations such as count, max, and average can be used.
C. A while loop can be employed.

D. Fact object structures can be changed.

E. A BPEL scope variable can be defined.

Correct Answer. ABC

QUESTION 3

BPEL processes are being used to implement both the service and client sides of a synchronous web service
interaction.

Which statement is true?

A. When acting as the client, a BPEL process may omit the Invoke activity.

B. When acting as the service, a BPEL process may omit the Reply activity.

C. When acting as the client, a BPEL process may not invoke as asynchronous process and wait for a callback.
D. When acting as the service, a BPEL process may not reply to the client with a well-defined fault message.

Correct Answer: D

QUESTION 4
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Which two are available as conditions for an alert rule in BAM 12¢?
A. between two times

B. when rows are deleted from a data object

C. a particular day of the week

D. when a web service is invoked

Correct Answer: BD

QUESTION 5

Which statement is true about the skip condition in a BPEL activity?

A. The activity gets executed hen the skip condition expression evaluates to True.
B. The skip condition expression is evaluated before the activity instance is created.
C. The activity gets executed when the skip condition expression evaluates to False.
D. The activity gets executed when the skip condition expression throws a fault.

Correct Answer: C
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